07_Lineare Gleichungen_krm

Losungen der Aufgaben

a)

b)

c)

d)

e)

f)

—0,3+2,7x=-5,7
2,7x=-54
X=-2

—6x+§:—0125

—6x=—ﬂ
8

———X—-2=—X-=

77 14 2

4 14 3 10 1
_ iVl

X
14 2

———=—X
7 7 14
10 1 13
——+==X
/7 2 14
20,7 13

=—X
14 14 14
x=-1
3x—725=£—2x
4

5x—7£:1
4 4
5x=17,5
x=15

7 1

0,375x—§(x+3)=———x
8 8

2

1 15 7
—X——=—
4 8 8
1 22 11
—X=—=—
4 8 4
x=11

4(x +3)-25% = 3x—(x—3)
X+3=2x+3
x=0

|+0,3

:(27)



9)

h)

K)

07_Lineare Gleichungen_krm

5(x+3)-%=3x—(2x—3)
X+3=X+3
5(x+3)-%:3x—(2x+3)

X+3=x-3

(x_%)(z+x):(x_z).(x+s)

2x—1+x2—%x:x2—2x+3x—6

§x—1:x—6
2
1x—1=—
2
1
—X=-5
2
§X' lx_l :ixz+i
5 4 20 10
3 ., 3 3 ., 1
— X —=X=—X"+—
20 5 20 10
31
5 10
1
X=——
6

2+(x+3)-(x-1)=(x-2)-(x+1)

2+ X2 +3X—X=3=X>-2X+Xx-2

2X=1=-x-2
X=-1=-2
x=-1

1
X=-=

4 20
x(lx—i)z—xz—x+—

4 4 3
1., 1, 5

L

Q

—
Il
——
—_——

|+1
L ={-10

vergleiche auch mit (I), (m)

|- X*
|+ X
|+1
|23
1
-3
|-§ (vgl. auch mit (j))!

L=Q

9)
|'§ (vgl. auch mit (j))!

L={}



